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QUESTION 1

Which four components are included in WLS Management Pack? (Choose four.)
A. Real User Monitoring

B. JVM Diagnostics

C. Business Transaction Management

D. Lifecycle Management

E. Configuration Management

F. Ops Center

Correct Answer: BCDE

QUESTION 2

What agent is used to collect the WLS server metrics that are available on the WLS All Metrics page?
A. ADP Agent

B. JVM Diagnostics Agent

C. BTM Agent

D. EM Agent

E. JVMD Agent

Correct Answer: B

QUESTION 3

What is the primary purpose of the Middleware Diagnostics Advisor (MDA) included in WLS Management Pack EE?
A. to automate the SQL tuning process by comprehensively exploring all the possible ways of tuning a SQL statement
B. to facilitate proactive performance and availability management by auto-finding problems and suggesting solutions
C. to find configuration problems by comparing WLS configuration to a Gold Image configuration

D. to provide comprehensive advice on how to optimize schema design in order to maximize application performance
E. to analyze the EM configuration and suggest configuration changes that will extend the stability of EM

Correct Answer: B

Reduce problem resolution time through middleware diagnostics advisor which provides "root cause" findings in context
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of the most relevant configuration parameters and offers suggestions for each finding.

QUESTION 4

An Oracle RAC Database appliance was initially deployed with two database instances. The load on the database has
now increased and another instance needs to be provisioned.

How would you add one more instance of the earlier deployed appliance?

A. Create and deploy a new assembly containing a single instance database appliance.

B. Add a new single instance database appliance into the previously created assembly and redeploy it.
C. Use the ScaleAppliance operation to scale up the deployed appliance instances from two to three.

D. Use the createAssemblylnstance operation to create a new instance of the existing assembly and deploy the new
assembly instance.

Correct Answer: D

QUESTION 5

What three actions can you perform while using Oracle Virtual Assembly Builder (Studio and/or Deployer)? (Choose
three.)

A. Create deployment plans.

B. Create appliances and assemblies.
C. Build and package.

D. Transfer and deploy via Deployer.
E. Back up and restore.

Correct Answer: ABD
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